38a 38
3
5,73 175,175 5,30
i [
@ Keller 2 g Keller 2 ©
2 2
N 18,68 m ¢ 17,28 m o3
4N
= S
[P~
Flur
4,01 m? \
: A
Keller 2 = Keller 2
18,73 m? 17,37 m?
3 ey :
O (1]
Technik 7 Technik
7,74 m? 4 7,74 m?
/|
7 1 7 /ey R
3
2,82 175/! ! 2,50 175 !,IJ,! 175 5,30




38

38a
5,86

5,30

3
17%,,,17°

i

Y

IITTIIL,

VIO,

WL L Ll

"”‘.’"””””"’4””””

N SSSSSSSSSSSSSSSS SN

|""A.

b—///

\
””””,”””’
”‘r’””/”"””
\

)

. YA

[
#
[

115JPJ( 1,33

'
N
[ e R N

;

(Ll e——— L

175

LT

AL

3,03

9Z 0L

2,57

23 |

115

1,27 | 1
M

i
111

17:
275

113
H 1:




38

38a

le)
s0P'S _ i sSL oLy _
N
N
\
N <
N 9
N o~
N
\
o N
:3-_“, SSNSNSASSSNN Y SN NSNS SSNSSNSSSNSNSN &
b
-
_
w
o
@«
N
wn w _
N~ L ~
- | -
Al SSSARR RN SN RRRRIS S RTRRR SRR RRESS SRR SSRSSSSSSSSSSSSN Py LM
IT = SEERINE
0 N N 0
N~ ) N N
- N \ -
N 8
N 3
N ;
) 8 ©
. o
o~
w NRRRRRERRRY . rf(fffffff"ff’ffff Lv M
o) N ®
N -~
\
N
\
[ '
N N
\ o
N
N
N
N —

| A |

E s90°S e 20'S u




38a 38

3
i 5,86 175 i'i'i 173 5,30
il il il
N 1[I} N
Il
o % I%“?iﬁéf
. Il g
- | Il “
Y7 4 ~ 2 Mieter
i 5 ‘E;—
-— I =
- w
©
> i ©
%) | _ 2 Meter
[]1]
1]
1]
] T _ 1 Meter
Il
4 I i 4
e ey
A AN i

2.975 15j} 2,735 17ji417i_2515_15ﬂ! 2,53






